5B+ 1000m

¥FiE 3t FELEA2E5+22EH
148
L—> No. K% FhlE B 4 I =lE fwE
545 o4k —
1 7 171 =F(h3) 1.44.720 2 Q
:F =5
324 429
2 4 S Vortex(F3) 1.43.510 1 Q
YYEN F39nNA .
;
3 10 N ARisR(h2) 1.51.220 4
YEL 2394
4 5 LA Bk Vortex(#13) 1.45.670 3 q
pi |
L—>  No. F& B aa 9L EIE GE
TS ,
i
1 8 Lo o ARIsh(h2) 2.10.920 4
2539 HAY \
;
2 9 o A ARIh(h2) 1.44.880 3 q
59\ 195
3 3 Yo s Vortex(#3) 1.43.630 2 Q
2P V98
4 2 Vortex(F3) 1.43.150 1 Q
34
L—> No. K& FhlE B A4 =lE  fmE
1 6 =70 om0 AR (h3) 1.46.240 1 Q
EF EXEB T
p2PT S
2 1 l Hk Vortex(#13) DNF
3 A BLAT(Th2) 1.59.380 2 Q

finK B



5B+ 1000m

HERES 24 S LEAR2EEL
148
L—> No. K% FhlE B 4 I =lE fwE
IR AUEDX
1 2 il Sk Vortex(#13) 1.43.350 1 Q
9\ 195
2 3 lom s Vortex(#3) 1.43.620 2 Q
3 7 215 7Ab =Frh(th3) 1.45.170 4
=5
YEN 2394
4 5 LA A Vortex(#13) 1.43.720 3
2#3
L—>  No. F& FiE B= 9L BIE HE
%5 500
1 e Vortex(#13) 1.48.280 2 Q
239 HAY \
;
2 9 o A AR (th2) 1.57.070 3
TOU 224509 .
3 6 L peppy RHA(E3) 1.44.710 1 Q
4 11 7R I L& T ($2) 1.57.290 4

finK BBF



5B+ 1000m

IBRIREEE (9~ 1141)
148
L—> No. K% FhilE B 4 I =lE fwE
JYEN FaonA )
;
1 10 e AR (th2) 1.57.520 2 oP
FHSH S .
;
2 8 o ARIHR(th2) 1.46.250 1 oP
3
4
$F 1000m
RS
BiR
L—>  No. F& S /s ML EIE GE
YES 2394
1 5 e Vortex(#3) 1.48.160 2
2 7 17 71b =Fd(h3) 1.44.850 1 oP
:|: =5
2539 hAY .
;
3 9 o s AR (h2) 1.55.490 3 oP
4 11 ISR I L&A T(F2) 1.57.800 4 op
finsk BB
AR
L—> No. K& FhiE B A4 I =i fmE
PR 95
1 2 Vortex(¥3) 1.42.470 1
F45)\5 194
2 3 1R S Vortex(9413) 1.43.010 4
90 3500 \
;
3 6 L mgpy REE(EHI) 1.43.000 3 oP
4 4 5710 Vortex($13) 1.42.590 2

KA Bz



